
Exercice

• Le	polynôme	générateur	est	x^4+x+1
• Calculez	le	CRC	pour	le	mot	information	00110



Exercice

• Le	polynôme	générateur	est	x^4+x+1
• Le	mot-code	reçu	est	100100100
• Y	a-t-il eu	des	erreurs?



Exercices

• Lesquels	des	polynômes	suivants		peuvent	détecter	les	erreurs	sur	un	
bit?
• G(x)=x
• G(x)=x3+x2+1
• G(x)=x4+x2+x+1
• G(x)=x3+x2+1



Exercices

• Lesquels	des	polynômes	suivants		peuvent	détecter	15	erreurs?
• G(x)=x3+x2+1
• G(x)=x4+x2+x+1
• G(x)=x3+x2+1



Exercices

• Lesquels	des	polynômes	suivants		peuvent	détecter	15	erreurs?
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Exercices

• Lesquels	des	polynômes	suivants		peuvent	détecter	des	rafales	de	
longueur	4?
• G(x)=x3+x2+1
• G(x)=x4+x2+x+1
• G(x)=x3+x2+1


